Ninth Grade Lesson

Two Poems on the Titanic

Lesson Objectives

The student will annotate two poems using the TP-CASTT method, noting the following patterns:

· diction (denotation and connotation)

· inverted order

· sound devices

· metaphors

· personification

· tone

· shifts

· theme

The student will connect the rhetorical patterns in the poem to the poet’s meaning.

The student will write two original poems, one patterned after “The Convergence of the Twain” and one patterned after “Titanic.”

Resources needed:

Poems are printed below.

Description of Assignment and Completion Guidelines

The student will read and TP-CASTT two poems dealing with the Titanic.  Then the student will write a poem emulating the form of Hardy’s poem and one emulating the form of Slavitt’s poem.

“The Convergence of the Twain” by Thomas Hardy

 (Suggestion: one class day)

Lines on the Loss of the “Titanic”



I

In a solitude of the sea

Deep from human vanity,

And the Pride of Life that planned her, stilly couches she.




II


Steel chambers, late the pyres


Of her salamandrine* fires, *like the salamander,  a lizard that supposedly thrives in fires

Cold currents thrid*, and turn to rhythmic tidal lyres.   * thread




III


Over the mirrors meant


To glass the opulent

The sea-worm crawls—grotesque, slimed, dumb, indifferent.




IV


Jewels in joy designed


To ravish the sensuous mind

Lie lightless, all their sparkles bleared and black and blind.




V


Dim moon-eyed fishes near


Gaze at the gilded gear

And query: “What does this vaingloriousness down here?”…




VI


Well: while was fashioning


This creature of cleaving wing,

The Immanent Will that stirs and urges everything




VII


Prepared a sinister mate


For her—so gaily great—

A Shape of Ice, for the time far and dissociate.




VIII


And as the smart ship grew


In stature, grace, and hue,

In shadowy silent distance grew the Iceberg too.




IX


Alien they seemed to be:


No mortal eye could see

The intimate welding of their later history.




X


Or sign that they were bent


By paths coincident

On being anon twin halves of one august event,




XI


Till the Spinner of the Years


Said “Now!” And each one hears,

And consummation comes, and jars two hemispheres.

“Titanic” by David R. Slavitt

( Suggestion: one class period)


Who does not love the Titanic?

If they sold passage tomorrow for that same crossing,


who would not buy?


To go down…We all go down, mostly


Alone.  But with crowds of people, friends, servants,


Well fed, with music, with lights!  Ah!


And the world, shocked, mourns, as it ought to do


And almost never does.  There will be the books and movies


To remind our grandchildren who we were


And how we died, and give them a good cry.


Not so bad, after all.  The cold


Water is anaesthetic and very quick.


The cries on all sides must be a comfort.


We all go: only a few, first-class.

TP-CASTT for “The Convergence of the Twain”

Before you begin to analyze this poem, you must familiarize yourself with the difficult vocabulary.

1.  convergence
6.  ravish

11.  vainglory

16. stature

2.  twain

7.  sensuous

12.  cleaving

17. hue

3.  pyre

8.  bleared

13. immanent

18. coincident

4.  lyre


9.  gilded

14. sinister

19.  anon

5.  opulent

10.  query

15. dissociate

20. august










(note pronunciation)










21. consummation

TITLE: What is the literal meaning?  State it simply, substituting synonyms.

PARAPHRASE:  Now that you know all the vocabulary words, tell what happens in this narrative poem.

CONNOTATION:  

I.

· Write normal syntactical order of the last three words.

· Why is “Pride of Life” capitalized?  Who is showing this pride?  This is an allusion to I John 2:16.  Write the Bible verse here.

II.

· What is the subject?  The verb?

III.

· What is contrasted?

IV.

· Note the alliteration (three examples)

· What are these “jewels in joy”?

· What type of figurative language is “jewels in joy”?

V.

· What is contrasted?

· Note the alliteration.

· Rewrite the question in a simplified form, using a synonym.

· Note the personification.

VI.

· Note alliteration (two examples)

· Note assonance.

· Who fashioned this “creature of cleaving wing”?

VII.

· Who prepared a “sinister mate”?

· Who is so “gaily great”?

VIII.

· How is the ship personified?

· Note the alliteration.

· Rewrite the last line in normal syntactical order.

IX.

· Rewrite the first line in normal syntax.

· What is the antecedent of “their”?

X.

· What is this “august event”?

XI.

· Who is the “Spinner of the Years”?

· Who is “each one”?

· How are “two hemispheres” jarred by this event?

Note the unusual rhyme scheme of the poem.  State the pattern.

ATTITUDE (TONE)

What is Hardy’s attitude toward man in this poem?  Write several sentences.  (Be careful.  This is more difficult than it looks.)

SHIFT

The poem contains one major shift.  What is happening in the poem before the shift?  What is happening after it?  What word signals the shift?

THEME

The theme has much to do with Hardy’s attitude toward man.  State it in a sentence.

TITLE

Now reconsider the title.  The poem is basically offering contrasts between two opposing forces (or three, if you will—two are literal).  What does the title mean on your second look at it, after studying the whole poem?

TP-CASTT for “Titanic”

TITLE

Look up the word in the dictionary.

PARAPHRASE—

CONNOTATION

· What kind of question is the first line?  The second and third lines?

· What about rhyme, meter?  This poem is written in __________verse.

· Write out the sentence fragments.

· Find one example of alliteration and write it.

· Find one example of assonance and write it.

· Find one example of consonance and write it.

· ********Write one example of figurative language in this poem.

(Therefore, this poem is written mostly in _______________language.

· How many lines does the poem contain?  Therefore, the poem is a ____________.

ATTITUDE (tone)

· What is Slavitt’s attitude toward the “first-class”?
· What is his attitude toward the world?
· What is his attitude toward death?
SHIFTS

Find two shifts in the poem.  What signals them?

THEME

Write the sentence in the poem that pretty well sums up the theme.  Now write what Slavitt is saying in your own words.  In The Lives of a Cell, Lewis Thomas has this to say: “Everything that comes alive seems to be in trade for something that dies, cell for cell.  There might be some comfort in the recognition of synchrony, in the information that we all go down together, in the best of company.”  How does Thomas’s statement fit with the theme of “Titanic”?

TITLE

Any different ideas now?

(Suggestion: out of class writing)

Both these poems concern the same subject.  But one is written in free verse (no regular meter/rhythm, no rhyme), and one is written in highly structured tercets, each rhyming within itself.  One employs simple, even colloquial diction, and the other employs so many difficult words that we have to learn them before we can make sense of the poem.  Both state very serious and weighty themes, but the themes are nevertheless different.

You are to write two poems dealing with the same subject.  Your subject is your own; I would suggest choosing something you know something about or you’re interested in and wouldn’t mind finding out more about.  It does not necessarily have to be a serious subject like the Titanic poems—the themes of both of those poems are weighty and quite somber.  You can write humorous poems, if you like.  Here are your directions:

1. The first poem you write will be patterned after Slavitt’s “Titanic.”

· written in free-verse—no regular meter, no rhyme

· at least 10 lines

· opens with two rhetorical questions

· contains mostly run-on lines, not end-stopped

· completely free of figurative language

2. The second poem you write will be patterned after Hardy’s “The Convergence of the Twain.”

· at least 8 tercets, all rhyming within themselves

· contains convoluted syntax in 3 lines

· alliteration in 6 lines

· assonance in 3 lines

· one metaphor

· one example of personification

Remember that the two poems should deal with the same subject.

(After poems are written, allow students to read poems to class.)

EVALUATION OF POEMS:

6

Student shows creativity and insight in both poems.  Both poems deal with same theme in a unique way.  The first poem contains at least 6 lines, and the second one 24 lines.  Both poems are punctuated correctly.  Every poetic device delineated in directions is used correctly.  Unusual and striking metaphor and personification in second poem.

5

Both poems deal with same theme in an original way.  First poem contains no less than 9 lines, second no less than 7 tercets (21 lines).  Language will not be used in as surprising or unique a way as 6-level poem, but all poetic devices will be present.  Convoluted syntax in 2 lines of second poem.

4

First poem contains 8 or less lines, second one 6 tercets or less. (18 lines) Language used more mundane and pedantic than 5’s and 6’s.  Convoluted syntax in only one line, metaphor stale or trite.  Alliteration in only 4 lines and assonance in only 2 lines, second poem.

3

First poem contains 5 or less lines, second one 4 tercets or less (12 lines)  Lacking metaphor or personification in second poem.  Alliteration in 3 lines, assonance in 2 lines in second poem.

2

First poem contains 4 or less lines, second one 3 or less tercets.  Lacking metaphor and personification in second poem.  Little alliteration and assonance used.

1

Student wrote just a few lines of poetry with little or no attempt to use the same theme in both poems.

